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IV Semester B.A./B.Sc./B.Com./B.B.A/B.B.A.T.T.M./B.B.M./B.C.A./B.S.W./
B.A. Afsal-Ul-Ulama Degree (CCSS — Reg./Supple./improv.)
Examination, May 2013
CORE COURSE IN COMMERCE
4 B07 COM : Informatics Skills

Time: 2 Hours Max. Weightage : 20

PART —A

This part consists of two bunches of four objective type questions carrying equal
weightage of one each. Answer all questions :

A 1) : is a spread sheet program.

a) Word b) Tally
c) Excel d) MS Office

2) is a Data base software.
a) Oracle b) Linux
c) Excel d) Tally

3) is a Network providing Academic Services.
a) ISDN b) LAN
c) NICNET d) WAN

4) are viruses that are triggered when certain conditions are
met.
a) Trojan Horse b) Worms
c) Henker d) Logic Bombs W=1)

B. State whether the following statements are true or false :
5) Star Topology is a communication channel controlled by centralised system.
6)

7) Altavista is search Engine.

8) Facebook is a social networking site. (W=1)

Linux is a commercial software.

P.T.Q.
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PART—-B

Answer any six questions in one or two sentences each. Each question carries a
weightage of one :

9. Distinguish LAN and WAN.
10. What is extranet ?
11. What is a Pen Drive ?
12. What are WIKIS ?
13. What is a Webcast ?
14. Explain ‘Plagiarism’.
16 What is BRNET ?
16. What are Cookies ? (W =6x1=6)
PART-C

Answer any four questions in not exceeding one page each. Each question carries a
weightage of two :

17. What are the components of Networks.

18. Explain the major uses of internet.

19. What are the IT applications in e-governance.

20. What is social networking ?

21. Explain green computing.

22. Name any six types of vouchers in Tally. (W = 4x2=8)
PART-D

Answer any one. Each question carries a weightage of four :

23. Give a brief account of the different types of operating systems.

24. What is cyber addiction ? Describe the health issues and guidelines for proper
usage of computers. (W = 1x4=4)




